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UF & E, 2015 4FICEE (R nlREZRBIFE Y 3 v ] CHRE e [HRA R EZEE T 2. FfealRERBIFE D20 D 2030 7 = v
] Oo—fTh b, LEEHH (1) (2) Q) OFMICEZL LRIV, b, MEIIHAGEE 213555 L 3%, / The following text is part of
“Transforming our world: the 2030 Agenda for Sustainable Development” adopted at the United Nations Sustainable Development Summit in
2015. Read the text and answer questions (1) , (2) and (3). Answer in Japanese or English.

UM EAIRER  https://www.mofa.go.jp/mofaj/gaiko/oda/sdgs/pdf/000101402_2.pdf 2024 45 A 30 HixA&HE)
AT RE 2R B FE HAZ (SDGs : Sustainable Development Goals) (X 17 D ='—nA (HiZ) - 169 04 —7 v F LR E T Y, Xho THE] 3 170=x—1 (H
) 2iEd. Xho 172y X ] 3 1A DMR LR S 5: K REARRED DD 2030 7V = v X ] DRDICHEINLT V=V X 2fFd,

I (hops://sdgs.un.org/2030agenda 2024 4E 5 H 30 Him#&R%)

SEE/Attention : IR—UIZHLRAENH Y £9/ More questions on the next page.|




* “SDGs : Sustainable Development Goals” consists of the 17 Sustainable Development Goals and 169 targets, and “Goals” in the text refers to the 17 Sustainable

Development Goals. “Agenda” in the text refers to the agenda for “the 2030 Agenda for Sustainable Development”.
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PRI N CEICEIL T, RO NE % 5EH L 7 X\, / Explain about the underlined in accordance with the text provided.
THEAREBL ToanZ LIk o Tl OHSEIEIC W TA L T0 2 HROHEHZ 20, BERMICHAL RS v, 61, %
NBREEC T DD, ERROZDICED XS BBERIINICH KD 515 DD, iIcoWTH BEMICHHT 2 2 &, / Give
examples of what is occurring as a result of the underline not being realized in social institution in a city and describe in detail. Explain
in detail why it is occurring and what policy responses are required to resolve it.

THEAER L Tk n 2 I X o CHITOWIENZERIC S W TAEL Ty 2 FHoFfl 2 22T, BRICHAL 23w, 51T, %
NDBREEL T LD, ERROIZDICED L BRBERIHMIGARD 55 DA, 1220 TH BFMNICHHT 5 2 &, / Give
examples of what is occurring as a result of the underline not being realized in physical space in a city and describe in detail. Explain in

detail why it is occurring and what policy responses are required to resolve it.
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